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Part- C (% - )
General English - Je'u 2

(61-65) - Instructions : Choose the correct words for the blanks:

61. The Train ........... before we reached the station.
(a) has left (b) has been left
(©) had left (d) was left

62. You cannot secure good marks unless
(a) You don't work hard (b) You work hard

(©) You will not work hard (d) You did not work hard

63. He ...oeeeee. is than his brother.
(a) elder (b) eldest
(c) older (d) oldest
64. God helps ................. who help themselves.
(a) them (b) those
(©) anyone (d) someone
65. How ........... sugar do you want?
(a) many (b) did
© much (d) more

(66-67) - Choose the correct article:

66. ............ Cow is a useful animal

(a) the (b) an

(©) a (d) no article is required
67. Manis ............. mortal.

(a) a (b) an

(c) the (d) no article is required

(68-69) - Choose the correct preposition:

68. Wesat ............. the ground.
(a) at (b) at
(c) into d to
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(70-71) -
70.

71.

11
There is not ............. tea in the pot.
(a) at
(c) into

Choose the synonym of "confess"
(a) lose

(©) deny

Choose the synonym of "entire"
(a) dynasty

(c) to make fun

(72-73) - Identify the wrongly spelt word.

72.

73.

74.

75.

76.

77.

78.

(a) embarrass

(c) excellant

(a) wrinkle

(c) whesper

An example of compound word.

(a) newspaper
(©) school

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

on

to

shame

noble

complete

shallow

expect

experience

wrestle

wicket

coast
spoon

We returned when the sun set. This is an example of

(a) simple sentence

(©) compound sentence

Identify the word which is not 'Adjective’

(a) false
(©) equal

Words having same meanings are called

(a) Antonyms

(©) Homonyms

The offspring of Tiger is called
(a) kid
(©  pup

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

complex sentence

clause

Jjustify
busy

Synonyms

Acronyms

cub

tigersess
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79.  Identify the word which is not phrase

(a) kith and kin (b) as arule
(c) by an by (d) so much
80. e, he is no more.
(a) Oh! (b) Hurrah!
(c) Alas! (d) Ouch!
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